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Abstract

Judgement at an intersection in driving simulation

Shinya Hisatake

Though an accident in the crossing breaks out frequently, to check how for sight
information processing to be involved in that factor, I made Draiving Simulater that
condition around the crossing was reproduced two-dimensionally on the computer dis-
play, and did the experiment to examine the correctness of the judgment of the operation
person and speed. When the speed of the car was changed to each set and a car in dis-
play came to the crossing, a signal was changed at the various timing, and the operation
of the car based on the behavior judgment of each case (It passes through the crossing
as it is,It stops at the front or It accelerates) and that, Reaction Time and a result were
measured. It got the result that mistakes increased in the point of the conditions that
a testee wants to accelerate it when experiment data were analyzed and the relations of
the appropriateness of the judgment which became a score with the position of the car

in the crossing when a signal turned yellow.

key words Reaction Time
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